Math 129 - Test 1A Name __ Key
February 19, 2020 J Score

Show all work to receive full credit. Supply explanations where necessary.

1. (4 points [3]) Which of these equations ARE linear equations? Circle all that apply.
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2. (3 points [3]) Solve for z:  4(z —5)+2x =3(x —1)+10

Yy-90+3x = dx-3+\D
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3. (3 points [3]) Solve for w: 6

\3-6w =30
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w=-3)

4. (4 points [3]) Yesterday, David rode his bike at the speed of 10 miles per hour. Today,
he rode at 14 miles per hour. In the two days, he biked for a combined total time of 9
hours. Let z be the number of hours he biked yesterday. Write an algebraic expression
in terms of the single variable = that gives the total number of miles he biked in the
two days. (Remember that distance equals rate times time.)
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5. (3 points [3]) Solve for r:  3r— (5—2r)=3(r —2) +2r +2
30-5+ac = 30-6 +av+ g
50-5 = Be -y
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6. (5 points [3]) Solve for z. Write your solution set in interval notation, and graph it

on a number line.

4 —Tx > 32

7. (5 points [3]) Solve for y. Write your solution set in interval notation, and graph it
on a number line.

Sy+14 < 2(3+2y) + Ty
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8. (3 points [3]) Solve for z: 3z + 13 > 3(4 + 2z)
X\ > lg-ir bx
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9. (6 points [3]) Solve for y. Write your solution set in interval notation,
and graph it on a number line.

3y—4)+2y<3 and 7T—-2y <13
3y-1a* 43 A£G
S5y-13a <3 51-3
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10. (4 points [3]) Kate sells her craft hot sauce at the local farmer’s market. It costs her
$150 to fent a booth, and she sells the sauce for $8 per bottle. Let b represent the
number of bottles that Kate will sell. Suppose she would like to take home at least
$400. Write an inequality involving b that Kate could solve to determlne the numbers
of bottles she must sell.
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11. (4 points [11]) Solve for z: =23z — 1] +5= -7 3x-\= b oa 3Sx-\= -6
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12. (2 points [11]) Solve for t: |t + 6| = —
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13. (6 points [11]) Solve for z. Write your solution set in interval notation, and graph it

on a number line.

|8 —2z| > 6
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14. (4 points [7,12]) Write as a complex number in standard form:
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15. (3 points [7,12]) Write as a complex number in standard form:
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'16. (3 points [7]) Solve for z:  4(z+2)(Tz +2) =0
X+ Q=0 o X3 =0
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17. (4 points [7]) Solve for z: 22 = 3z + 18
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18. (3 points [6]) Complete the square:  z? + 6z + 2
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19. (5 points [7]) Solve for z. Write your solution(s) in exact form, simplified as much as
possible 32 —2r+1=0 J8 - Qﬂ
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20. (6 points [7]) A ball is thrown from a height of 60 meters with an initial downward
velocity of 3 meters per second. The height of the ball (in meters) after ¢ seconds is
given by h = 60 — 3t — 4.9t>. When does the ball hit the ground? Round your answer
to the nearest hundredth.

3- 185
h=0 = (0-3%-43t'=0 y-
a:-49, v=-3, C=60 | -G.8
3\ 9 -4(-4.9)(«0) / . :3,3\ - )
: 3(}’-\(]) P '
. 3V 7785 ] |
-9.8

21. (3 points [7]) Use the discriminant to determine a value for a so that the equation '
has exactly one real solution.
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22. (3 points [1,11]) Determine the values of z that are restricted from the following
z—6

x2+2x —15
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23. (4 point 7,11]) Solve f T ==
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5(w-T) = 8w 3

5w -35 = Bu
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24. (6 points [37,11]) Solveforz: ey =1+ 73
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25. (4 points [11]) Solve for z. Round your answer(s) to the nearest hundredth.
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